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5km 201943/ 248 (BH)
Eg EEEE 'y Al [ BB R
1 1 2601 Il BN 175359% 5km3B F29m LT
2 1 2803 =ik &85 EMP21=T 185306F) 5km5 F405% 1K
3 1 2707 HH =z 1853317 5km 5 F30m% ¢
4 2 2816 BRER Bz ET %15 1853327 5km 3B F405% X
5 1 2501 AH RE 185> 48%) SkmaREFBF
6 1 2906 18K m— ER<ZVY95T 195309F) 5km5 F505% 1%
7 1 3003 =i R ER<SY95T 195321% 5km 5 F605:% X
8 3 2801 % ER Fe R &% 195325 5km5 F405% X
9 4 2817 =0 th— 199332F) 5km 5 F405% X
10 2 2907 AT & 1953455 5kmB3 F507% £
11 2 3002 SRIR B Em<sV957 204303%) 5km 5B F60i% ¢
12 2 2709 B = PN 2053478 5km53 F305% K
13 3 3006 £k BUA B A BE R 205353 5km5 F605% 1%
14 5 2813 B Rl 215178 5km5 F405% 1K
15 4 3009 R I WEESIS 214338F) 5km 5 F605% £
16 6 2806 R Rit AEF A2 2157 42%p 5km % F40i% X
17 7 2804 INTF [5— AlEF A2 214356 5km B F405% X
18 3 2708 HE B 225322 5km 5 F30i% X
19 3 2905 WA FE = I R AR 2353037 5kmB F507% 1t
20 1 3110 FE AL 235}03%) 5km & F70m% LA L
21 2 3104 O N 235309%) 5kmBF70m L
22 3 3108 R &7 235y 24%) 5kmBF70RE L
23 1 3703 WK HOF RAEHIR 2353307 5kmZ F605% €
24 8 2815 RE S 2353 48%) 5km5 F405% 1K
25 5 3004 ENME 2345y54F) 5km B F605% 1<
26 9 2802 P = 245300%) 5km 5% F40i%
27 6 3008 T E— BIlERRBERS 245303 5km53 F605% X
28 10 2809 JIl# ZR_1E FMIIRES 2453267 5km53 F405% K
29 4 2705 KR EF EAEHEE~ SV AR 2453 43% 5km5 F305% 1K
30 5 2702 ZH 1= SEARRHBAE~ S & 2453518 5km53 F307% K
31 1 3603 F8E ER 245352F) 5kmZZ F507% X
32 11 2810 BARK—E MIIRES 245354F) 5km 3B F405% X

33 4 2901 B RR 254303F) 5km B F50m% 1
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34 7 3010 BY & 255 31%) 5km B3 F607% £
35 1 3404 A k%= 2553358 5km#Z F305% 1€
36 4 3105 K &S BRAESIR 265307%) 5km3B F70i% LA £
37 2 3701 a8 TEF F—L15161 263147 5kmZ F605% €
38 5 2903 EE # F)IIET %15 2745334%) 5km 58 F 50X
39 1 3201 AH HE BIERIMIIEEFR 2745746F) SkmERAERF
40 5 3101 =H B3 2853}03%) 5kmBF70m L
41 2 3601 R 5HiE 285321 5kmZ F507% K
42 6 3102 BIRF #E= IEERRERS 2853528 5km5 F 70 LA E
43 6 2904 2K EF 2953047 5km B F507% X
44 2 3202 AHE ¥ BIFEIZMIEERR 29453 18%) SkmEREXF
45 12 2814 T HAE 295719%) 5km53 F407% K
46 7 3109 BKEE ARV &S ECEKR 2953428 5km3 F70i% LA £
47 3 3203 A% Dt FBEIMIIEEER 29534580 Skmis iR E X F
48 13 2812 15 HiE FIIRE= 2953458 5km5 F405% 4K
49 8 3103 A B EXRRES 295348%) 5km55 F70m% LA L
50 14 2808 AE R FMIIRE= 295758%) 5km % F40i% X
51 6 2704 HO #E EARRHEBAE S & 305709%) 5km 5 F30%
52 15 2811 W FE FIIRER 3053 15% 5kmB3 F405% X
53 8 3001 BA FiE SRC 3053195 5km5 F605% 1€
54 9 3106 AE RE 3043195 5km5 F70mE LA £
55 7 2706 MEEE EH 305347% 5km5 F305% 1K
56 3 3602 AR BXEF (BR) ZThEXE 30453%) 5kmZ F50i% £
57 10 3107 ARHE TiE EEEAIR 304358F) 5kmEBF70RE L
58 2 3401 AR a3k by TRE—F 305358 5km#Z F305% €
59 1 3501 T LEY by TRE—F 305359%) S5kmZ F405% X
60 3 3403 IND T by TRE—F 305359%) 5km#Z F307% €
61 2 3502 n# x 3143458 5kmZ F405% £
62 9 3011 FE —& 319357% 5km B F607% X
63 8 2701 A K 3243057 5km B F30% X
64 1 3801 BRKEXF 365349%) 5kmZ F70i% L
65 10 3007 B BE REER el 53 #) 5km 58 F605i% L

66 16 2807 EXRIE EALREEREI <S8R R 2 7 5km 3 F40E K
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5km 20195%3H24H(RH)
FON= N G R £ i@ 8% ik
IBGE  IEGL
67 7 2902 E@A B B # 5kmEB F50mE
68 4 3402 WA BEfE My TRE—K i=AiSEaR 5kmZ& F30m% %
69 3 3702 A RF HREUV&2ECERS B2 5kmZz F60m% 1L
70 9 2703 KB & FALREER< S EB i=HiSEaR 5km 3B F 30 %
Al 11 3005 28 A HRI$FE&TIRT BRI 27 5km B F60m% X

72 17 2805 W H FER B # 5km B F40m% K



